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D:ft I A % = 1590 x80EXx1.7 =22 H
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EHIT= LxWxH/Q= 150x0.95x2.16/67.0(m3/H) =046 A
12 I = 10hr/10m) X 15m=10m = 6.5(hr/H) =023 H
{EHIT + BT = 046H+0.238 =069 H
@QF B T
HBET = 036m3/m x 15.0m -+ 33.0m3/H =0.16 A
@EMSEK T
EHRI= 150m + 22.7m/H =0.66 B
(4) BERT
BRI = (216-0.416) X 095 X 150m <+ 33.0m3/H =075 B
G ®Es5 &k T
BE5RIT = 0.12(H/10m&Y) = 10mx 15m =0.18 A
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BEIT= LXWxH/Q= 150x095x%2.67/67.0(m3/8)

T8 T = 1.2(hr/10m) X 15m--10m + 6.5(hr/H)

EHIT + BT = 05768 +0.28H

QX B I

BT = 036m3/m X 15.0m =+ 33.0m3/H
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EHBIT = 150m ~ 22.7m/H

(4) BHIERT

BRI = (2.67-0.416) x 0.95 X 15.0m <+ 33.0m3/H

®XEs3 %K T

BEl#RIT= 0.13(H/10m%Y) ~ 10m X 15m
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=0.28 H
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BH= (THEMXxDHBEEREERERE X HIEE) xA
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EHIT= LxWxH/Q= 150x0.95x 3.28/67.0m3/H)
BT = 13(hr/10m) X 15m=10m <+ 6.5(hr/H)
{EHIT + BT = 0708 +0.308
@QF B T
HBET = 036m3/m x 0.0m + 33.0m3/H
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EHRI= 150m + 22.7m/H
(4) BWERT
BRI = (3.28-0.416) X 095 X 150m <+ 33.0m3/H
G ®Es5 &k T
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=0.30 H
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EHIREIRE = 3.28 m. n'97£790.28m3
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BH= (THEMXxDHBEEREERERE X HIEE) xA

A RIS YFHYIEmIE= 15.00m x 35 x 2@ 105 m2
N: ¥z FAEI% = 70.80m =+ 15 =5
D:ft B %% = 265Hx50[x17 =23 H
WER = 1/2(n+1)  nlFARILOFERARESK 3

T B HEE =11.7t(15mHLY)=15 X 150 =11.7+1
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+2T= 150m+385m/H+150 + 111.1(m/H)
fEHIT + BT = 1.090 +0.53H
& ® T
HMT= 036m3/m x 15.0m + 33.0m3/H
@EHRK T
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(4) BHIERT
BET = (191-0416) x 095 X 150m <+ 33.0m3/H
GBSk T
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) EHRVEET

EHIT= LXxWXxH/Q= 15.0%0.95x 1.51/48.0(m3/8) =045 B
1B I = 150m+430m/H+150 + 200.0(m/H) =043 B
{EHIT + £ T = 0458 +043H =0.88H

@QFE B I

EMT = 036m3/m X 150m + 33.0m3/A =0.16 B
@EMZ T
EHHI= 150m + 22.7m/H =0.66 B
(4) BWMERT

BRI = (151-0416) X 0.95 X 150m = 33.0m3/H =047 B
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EEE ¢200mm, EKE=250m, BEEMHERh=2.0m
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1R (15.00mZEHEITADICETSERABHOEE
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B = (THEEMXDHEEERVERE X HIEX) XA
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